
poznej strom - Doplň správný název stromů: 

1. BOROVICE    2. BŘÍZA      3. JEDLE 
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                     4. BUK    5. SMRK     6. DUB  

 

 

 

 

 

 

 

 

 

7.        8. LÍPA  

JÍROVEC 

 

 

 

 



Vyber ke každému stromu jeho jednu další část: 

a. JEDLE     b. BOROVICE    c. LÍPA  

 

 

 

 

 

 

 

 

    d. BUK    e. BŘÍZA     f. JÍROVEC 

 

 

 

 

 

 

 

 

   g. DUB    h. MODŘÍN    i. SMRK 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 - HABR 2 - DUB  3 - JILM  

4 - BUK 5 - LÍPA  6 - JAVOR 

7 - JEŘÁB 8 - JÍROVEC  9 - DUB  

10 - JAVOR  
11 – JEDLÝ 

       KAŠTAN 
12 - JASAN 

13 - BŘÍZA  
14 – JÍROVEC  

       (NEPRAVÝ KAŠTAN) 

borovice 6 

bříza 10 

buk 8 

černý bez 7 

dub 4 

javor 5 

jedle 1 

kaštan 13 

lípa 11 

líska 12 

modřín 2 

rybíz 9 

smrk 3 

šeřík 14 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


